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1) Simplify the following expression:
) 3
oY 2

r2 22

O

< <

2
2

O

2,2

X

O 28824

z

O None of the above

2) Simplify the following expression:
Y

Bl

O a3
O pl1/2
O :C9/2

O None of the above

3) Find the derivative of y = 322 + 5z — 7.
(

Oy =322+5
Oy =6x—7
Oy =bx+5

O None of the above
(4) Find the derivative of y = 10e” + 34/x.

3

10e” + ——

O 10e +2\/E
3

010€x+§\/§

3
10e* + —
064—\/E

O None of the above



(5) Given two differentiable functions f and g, the following describes the
/
derivative of their sum, < f— g)

O f'+d

of -4

O f'g

O None of the above.

(6) Given two differentiable functions f and g, the following describes the
/
derivative of their sum, < f+ g)

Of+d
of -4
O fq¢

O None of the above.

(7) Make a guess for the following:

(-

(8) Make a guess for the following:

b




